Rational Numbers
Exercise 4F

Q1

Answer:

(i) Multiplicative inverse of 18 = %

n) Multiplicative inverse of — 16 = ‘F;

m) Multiplicative inverse of % _ 5143

iv) Multiplicative inverse of % — %

v) Multiplicative inverse of I—; = 1—1
vi) Multiplicative inverse of :—: = :—i = %

vn) Multiplicative inverse of — 1 = _ll =-1

vm) Multiplicative inverse of 0 = % = infinity
Hence, it does not exist.

Q2




Q3

Answer :

{1)(?}——?7 =%
(?):% * —T?
(...?..)=—1_;4

Answer:

Let the required number be .
&

T X (E) =24

:|:=24+I_;3

— o4 (i)
_-&l

_ sx(1)
T oax(1)
=—45

Q7

Answer :

Let the other number be z.

zx —8=10
=>x=10+(-8)
=10 x %
— 4 % L
_-s-‘I

. Other number = _TB
Q8



Answer:

Let the other number be x.
z x(—12) =-9
=>z=—-09+(-12)

- 1

= —g = (ﬁ

T,
Hence, the other number is %.
Q9
Answer :

Let the other number be x.

4 _ 16
EX(T)__'J

Hence, the other number is %.

Q10
Answer :
Let the required number be z.
& 5
T (E) =%
_ _ 5 . (_8
oaee(3)
3
_ s X(—}-&)
2f, 8
_ 5% 1 _ 15

16x—-1 16
Hence, the required number is

—15
T
Q11

Answer:

Length of the cloth required fo prepare 24“trousers — 54 m
Length of the cloth required for each pair of trousers = 54 + 24

4

2’4

\ _ 9 _ g1
=3=23;m

Hence, 2 di m length of cloth is required for each pair of trousers.

Q12

Answer :
Length of a rope = 30m
Number of pieces = 30 + 3% =30 =+ %
=234 x L
+5
=8
Hence, the number of pieces would be 8.
Q13

Answer:

Cost on% m cloth = RSTB%

Cost of cloth per meter :78% = 2%
_ 85 . 5
—Tr T2

63 1

e z

"(2 _5—1

63 1

=Rs 5 =Rs315
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